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AN ) A Juadl) dialdl) 4l gall) ol g A jaa
2022/2021  (pea P cbidb )l adiie 12 cikall
choose the correct answer: :4313sall Yl Q:‘i‘

I Juala 1S 13 cpasadl gl ¢ 12 Lage sana (i sa Ol (1)
OSala ) Lags paa

(1) Two positive numbers totaling 12, find the two
|_numbers if their product is as large as possible.

> (a) 66 (b)3,9 (c)4,8 (d)5,7

[ Ol sl sl ¢ 16 Lagasd Jala gl sa ¢laxe (2)
OSala J8l JAY) & e g Labaal £ gana
(2) Two positive numbers multiplied by 16. Find the two

numbers if the sum of one of them and the square of the other is
the least possible.

16

C (a) 44 (b)1,16 (¢)2,8 (d) 5,?

Ao a2 gl ¢ Mgmioﬁgqﬂ ¢ ai 200 M sh dl (3)

U) OSan ba S Adalais (68 S Judaliial)
(3) A wire of 200 cm length, bend to form the sides of a

rectangle. Find the dimensions of the rectangle so that its area is
the largest possible.

(a) 5,50cm? (b) 50,50cm? (¢)50,25cm? (d)15,15cm?

00971503393009 -2~ (Cxadl) Gmess WA
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2022/2021 (e P Gl il adiiae 12 Cikall

O hilay (duaile (2 Y (e Jukiia S) Aol 229 (4)
I S 60 Mgk g Aikala)

(4) Find the area of the largest rectangle on the ground, attached
==mmm=to a Wall that can be surrounded by a wall length of 60 meters.

I—(a) 405m (b)540m (¢)440m (d) 450 m
i 20 4y gl 3l aild Silia LA dailll) ala £ gana oS 1Y (5)
(5) If the sum of the two sides of the list in a right-angled triangle
ris 20 cm, calculate the largest possible area for it.

(@) 50cm? (b) 55cm?* (¢)25cm?* (d)75cm?
I inad 503 Ja13 oy oS Jubiinn yaS) dalaws 22 ) (6)

. o 5 L glad

(6) Find the area of the largest rectangle that can be drawn
within a circle with a radius of 5 cm.

m (a) 25cm? (b) 35cm?* (¢)50cm?* (d)45cm?

(/) x+y =10: @y glhii 5 gl x oy <ils 13 (7)
x3y2agasll abial) dadl) 23 g

= 10 find the maximum value of the quantity x>y?

(@) 3654 (b)3456 (c)3546 (d) 4356

Z

(7) If x and y are two quantities related by the relationship: x +y

00971503393009 -3~ (Cxadl) Gmes A,
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A B oA (8S Cuns G () Aasdll A a 15 4d b dllu (8)
I 232 J8 Joha Lab ¢ay La JB) AT e JUia) Aoy i 5 J5Y)

(8) A wire of 15 cm length is to be divided into two parts, so that

aemtNe sum of the square of the first and four times the cube of the

other is the least possible, so what is the length of each part.

13 3 27 13 27 3
(b) 27 (C)7,7 (d) >

I (@) 3 '
a = ’ S ¥ =
> 2 2 2
ag) 23 g8 ani 90 (5 sl Lghae 8 haiaa g Lge ) £ ganma S
OSada S Lgaaa (6% Ladie Aual) 53a
I(Q) A box in the form of a parallelepiped with rectangles with a
square base. If the sum of its height and the circumference of its

C:)ase is equal to 90 cm, find the dimensions of this box when its

ize is the largest possible.

(a) 15,15,20 cm (b)10,10,30 cm

m (c)15,25,30 cm (d) 15,15,30cm
(/) s i diyn 45 all f40 41shk glow bt (10)
gl Viga gihla) (e daluaa Si 3.

I I I(10) You have a 40 ft fence to surround a rectangular garden.

Find the largest area surrounding this fence.
L.

(@) 100ft2 (b) 200ft> (c)120ft% (d)110f¢t?

Z

00971503393009 -4~ (Cpadl) Gmes A
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Gy = 9 — x2 Al gkl o Akl a3 i(11)
Jsad) ksl (5,11)4kasl

( 11)Find the point on the parabolay = 9 — x? Closest
—==to the point (5 ,11) See Figure

H

(a) (0.79748, 7.364). (b) (0.97728, 8.634).

(€)(0.79728, 8.364).  (d)(0.79278, 7.634).

—
>
I_
L
C
W
wn
B
<

00971503393009 -5- () s A
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Al dlagl da ), Alilu duaig) 12 o (5 5iad () 14 gaal) Ade (12)
Hlaw ¢)) 2l 8L (gaia 8 daadivall (5 iuall Ladl) 8 giu Al
I L (Caly e 5 (8 aa g gia st e ¢ (5T) Basl g Balal)
(12)A soda can is to hold 12 fluid ounces. Find the
dimensions that will minimize the

Amount of material used in its construction, assuming
that the thickness of the material

Is uniform (i.e., the thickness of the aluminum is the
same everywhere in the can).

—
L
-
N

(I)(a) (0.510548,3.3211).  (b) (2.510548, 1.0211).

I I I (€)(0.510548,1.0211).  (d)(1.510548, 3.0211).

Z

00971503393009 -6~ (Cxall) s A
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(s aailiceal) ancdll ) gag il g AN (e zlaw sl s (13)
I ddalaal) dabewal) Adudaivia Adkaial adl ) cuilad) JSdn gd) ygdl)
baall o pual) daidll 325l 1800f 12 (5 sbusd

W=(13)A three-sided fence is to be built next to a straight section of

rRiver, which forms the fourth side of a rectangular region. The

Enclosed area is to equal 1800ft2. Find the minimum perimeter

> (a) 125 ft. (b) 120 ft.
(€)130 ft. (d)102 ft.

B_hua Cilay o adad (A (4 7 gidal) (3 gaiial) adua 2(14)
o) (1 A2 9, A gy 12 (A a9 12 L9 (10 Aluldala

I Mh\gﬂ\wumﬂ\@aﬂ.\uluﬂé il gl (A

L VP RERCRI | Y PO (8 gaiall

( (14) An open-top box is to be made by cutting small congruent
quares from the corners of a

le-in.-by-lZ-in. sheet of tin and bending up the sides. How large
should the squares cut

From the corners be to make the box hold as much as possible?
(@) 128 in°. == =

T (b) 138 in°>.

—  ()218 in°

Z (d)821 in>

00971503393009 - 7- (Cxadl) Omess DA
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B L2 W hd Chiai § il dual (A Jukaiwal) Jus (Say (15)
I ¢ 09 Of S Jalaiaal) (A daloia S|

(15)A rectangle is to be inscribed in a semicircle of radius 2.

=ssmmw\/\/hat is the largest area the rectangle?

I(a) Vacm? (b) 6cm? (c)4cm? (d)2V2cm?

-

Ladas dabice Aaild 4 510 &) gl a2 81 L (16)
m . T AN s IS €T e 724

(16) What is the largest volume of a right circular
cylinder with a surface area of 24rtcm?? Write your
manswer in terms of m.

(a) 8tcm? (b) 16cm?
(c)4mem? (d)16mtcm?

00971503393009 -8~ (Cxall) s A,
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(6 Sl JSAY) Aay ya ol Bbiinn (6 5) g g3 ¢ 9a2a (17)
I (OSa La aS) daaa Jaad ) dlagl) da ), a 12

(17) The sum of the sides of a rectangular prism with a
mmm—=square base is 12 cm. Find the dimensions that make it
the largest possible.

(a) 2cm, 2cm, 2 cm (b)1cm,1cm, 1 cm
>(c)4cm, 2cm, 6 cm (d)1cm, 2cm, 2 cm

inad phad Coa Sldaine gladi 5,08 cieal JSA Ao 538U (18)
da g (30 3L Jasaa S 1) Jalaisal) (2 & (g ghans B a1l
L OSanba ) 5380 daliwa Jad Al B ilal) gl kb Ciia

(18) A semicircle window above a rectangle; where the diameter
of the semicircle is equal to the width of the rectangle. If the
perimeter of the window is 30 m, find the radius of the radius
that makes the window area the largest possible.

m 30 Avo

(@) —m (b) —gm
m 2+m 30

() —m (d) -—m
L

1
(&) ;m

Z

00971503393009 -9- (Cpadl) s A,
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A 10 olamy Jubains JSG Jo L;ju\@j!m&ahé(lg)

Iast‘mdja hu@f@JY!oh!”w&hﬂ\J\@alsg
)aujdmdmub}’aJJLﬁ\ 9\}Y!w‘9h3cea.uxl.g.|.n
e, (1S LS A (1S 03] 3N gieal) dad il U

(19) a piece of thick paper in a rectangular shape with
dimensions of 10 cm and 16 cm. If at its four corners identical

squares are cut with a side length of cm, and the protruding
>parts are folded up to form a box without a lid, calculate the

dimensions of the formed box if it is the largest possible size.

|_(a) 2cm, 6cm,12cm (b)) 6cm, 4cm, 10 cm
(c)écm, 2cm, 4 cm (d)2cm, 8cm, 14 cm

Jans @A) p k) gl a9l Yo 16 @bl @ ils plld dalua (20)
C ORI G Aagl Y (b da ) a3 (S La B (g sdlal) plhadl) s
(20) The area of a circular sector equals 16 cm2. Find the radius r

which makes the circumference of the circular sector the least
ossible, then find the measure of the angle 8 in radians.

(a) r=4cm ,0 = ~ radians. -
N 2 ol )
(b) r = 4cm ,0 = 2 radians
1 1

m(c) r=4cm ,0 =% radians A= ETS = 57“29

1) T =16cm ,0 = % radians

=2r + B—S
p=2r+s, e

Z (e) = 8cim ,0 = % radians

00971503393009 ~10- (Cradl) Comn M1
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O 1A Aay o ASae B CBLaLa (g 5 e 84 o dedia (21)
O La Sl daaa

(21) A rectangular box with a square base. If the sum of
I_its edges is 792 cm, calculate the dimensions of the box

that make it the largest possible.
>(a) 99cm, 99cm, 66 cm (b) 198cm, 198cm, 99 cm

(¢)33cm, 33cm, 132 cm (d)66cm, 66cm, 66 cm

Al Al La | Jabtess Jand a 41 4l gh élla padlial (22)
I 4 Aol ol ans

(22) A 41 cm long wire was used to make a rectangle.

C\Nhat dimensions give its maximum area?
41 41

(a) — cm ,—cm.
b ](b) 41 123
m g (m ,—o-cm
41 82
(d) S cm ,—cm

( )41 41
e) —cm ,—cm
Z© 5™

00971503393009 -1 1- (Cuadl) Caen (DA,
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L a9 600M Ldaiaa JSG) dlkaina ()l dald (23)
T ek i Lgiabues ¢ il
(23) A rectangular plot of land with a circumference of

=mm—=600m. Find the two dimensions of it to make its area the
largest possible.

(@ 150m, 150m () 15m, 15m
>(c)250m, 250m (d)50m, 50m

T Byl .400m? Whalua JSA) Alkiua (i dakd (24)
¢! ofan bae
(24) A rectangular plot of land with an area of 400m?

Find the lowest possible circumference for it.

C(a) 85m (b) 60 m (c) 80 m (d) 65m

() el oS A Al (x) ol FaY) 22 (25)
oSl B f(x) = %xg — 3x% — 4 Al (ulaal)

(25) Find the x-coordinate of the point where the tangent
I-I-lcurve is the lowest. to the f(x) = %x:* —3x* -4

(a)x =5 (b)) =2 (c) x=4 (d) x=23

Z

00971503393009 ~12- (Cradl) Comn M1




2022/2021 (e SR clual ) adiie 12 diall
Al s afiine o3 3 ass & jay (26)
I a3 & s BB sl §(2) = ¢* — 1223 + 882 — 6t + 30
(26) A particle moves in a straight line according to the
w——relationship S(t) = t* — 12t> + 8t* — 6t + 30 Find the
minimum acceleration for this particle.

(a) —29m/sec? (b) —92m/sec?
(c) —93m /sec? (d) — 94m/sec?
(X)bisaad) g2 (368 A Sy akiiana S} dabess L (27)

CIAY ol g (X) sl jgaa Ao dpany 2l Gkl S
y=12 — x2 (Haia Jo
(27) What is the area of the largest rectangle that can be
drawn over the x-axis so that one of its dimensions

pplies to the x-axis and the other two vertices are on
the y = 12 — x*curve

00971503393009 ~13- (Cradl) Comn M,
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2022/2021 (e SR cbual )l adiie 12 diall
2l aa] Jea ALalS 5 9 ) aw 9 0555 Jsha Ayl ) aild Cia (28)
ool Ja g iall Saa PEEN Sila daildly

(28) A right-angled triangle whose length is 9cm, which rotates a

=t Ull circle around one of the two straight sides. What is the

largest possible size of the emerging cone?

(a) 52V3mem3 (b) 45V/3mem3
C (c)54V3mem?3 (d)55V3mem?3

m Lagins 3 puaanal) 4y g) ) 5 a7 g9 anih 4d calin Y gl Ciliia (20)
fOSarka paS) Elial) dalwe Jaad Al B Lguld

29) A triangle of two sides in length is 5 cm and 7 cm, and the
angle between them has a measure0, which makes the area of

mthe triangle the largest possible?
(b) 0 =

(d)8 =

[

3
[
2

00971503393009 ~14- (Cradl) Comn M1




AN ) A Juadl) | dialdl) 4l gall) ol g A jaa
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32cm? 4saa JSA) Aay je 432018 cUal Mo (4 gaka (30)

¢ OSatla (8] Aniial Aaddiial) Balall duas (yeSi 3 gaiall Jlay) La

(30) A box without a lid, with a square base, its
size32cm?3 what are the dimensions of the box so

hat the amount of material used to make it is the
least possible?

| H

—
L
C
N
N
T
Z

00971503393009 -15- (Cradl) Comn M1
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9 dasaia b lal) CilS 1) @ JE (%)
L Ul 5 jlal) el 1)
—@ @ 16cm 16 cm? 4ialua Jobiaal (San s gual (1)

—

> @ @ 24 units® oy = 12 — x% dalaaa o1 (Al<al)

. 4 " ” »
'LJM‘?eaaﬁfjmv?'M ‘éJ.\‘JJa3JM

Prove that the largest volume of a right circular cylinder
that can be drawn inside a right circular cone is 4/9 the
volume of the cone

00971503393009 -16-
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